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QUESTION 1

Jenny recently switched from broadband cable Internet to ADSL service with her local phone company. To economize,
she chose the self-installation option. It appears that her ADSL modem is not allowing her to connect to the Internet.
Which setting should she check first? 

A. Loopback address 

B. Software version 

C. Default gateway 

D. Device name 

Correct Answer: C 

 

QUESTION 2

Which of the following statements about virtualization is true? 

A. Virtualization enables multiple physical computers to run off of a single virtualized server. 

B. In virtualization, you run multiple virtual machines, provided they all use the same operating system. 

C. In virtualization, the operating systems of the virtual machines should match the host operating system. 

D. Virtualization enables you to run multiple operating systems and applications on a single computer. 

Correct Answer: D 

 

QUESTION 3

You received an e-mail message on which several other individuals were copied. You want to respond to this message
in a way that will include everyone who was copied on the original message. You can accomplish this by using which
action? 

A. Reply 

B. Reply All 

C. Forward 

D. Send 

Correct Answer: B 

 

QUESTION 4

Marion is formatting a simple Web page. She has been asked to create headings before the first and third paragraphs.
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To accomplish this most efficiently, which type of HTML elements should Marion use? 

A. Text-level elements 

B. Block quote elements 

C. Fixed-width font elements 

D. Paragraph-level elements 

Correct Answer: D 

 

QUESTION 5

What is the distinguishing difference between a LAN and WAN? 

A. A LAN is a group of networked computers within a confined geographic area. 

B. A WAN is a group of networked computers within a confined geographic area. 

C. A LAN typically provides slower network connection speeds than a WAN. 

D. A WAN is commonly used for intra-office communication. 

Correct Answer: A 
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